Answers

1
) £36
|
|
| I
| |
£9 £27
a) Thegame cost £9. (36 + 4=9)
b) He would have £27 left. (36 - 9 = 27)
2) a) £11.80
b) £25.20
3) a)
Item Sale Price Full Price
computer £16 £32
game
art set £9 £18
book £5.30 £10.60
drawing pad £2.50 £5
b) £32.80
c) £65.60
1) a) £10 £10 ?
£4.40 £2.10 £2.10 ? £4.40 £2.10 £2.10
[]
b) £4.40 + £2.10 + £2.10 = £8.60
£10 - £8.60 = £1.40
She should have £1.40 change.
2)
Paula Lisa Jed v or X
£6.50 £7.25 £13 v
£4 £3.80 £8 X
£6.40 £5.80 £3.20 X
£5.30 £6.70 £10.60 v
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Answers

1)

2)

3)

2 adults and 10 children
6 adults and 5 children

With Voucher 1:
£8.75 + £2.50 + £3.99 = £15.24

With Voucher 2:
£8.75 x 2 = £17.50
£2.50x 2 =£5
£3.99 x 2 = £7.98

£17.50 + £5 + £7.98 = £30.48
£30.48 - £15 = £15.48

Voucher 1 would give the greater savings.

a) £3.60

b) A set of clues which identify a different amount.
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